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1. Explain what you learned in class today. Then tell which parts are still not making sense or tell which parts really worked for you. (Your response to the question should be very detailed! Please write in complete sentences and be ready to share in class.) ___________________________________________________________________________________________ _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2. 
3. Find the GCF of 42 and 63.













4. Write a situation that could be represented by the ratio 4:7. 







5. Show (with diagrams or using the C value) that the ratios 2:3, 4:6, and 8:12 are equivalent.












6. The ratio of Isabella’s money to Shane’s money is 3:11. If they have $154 total, how much does Shane have? Use a diagram to support your answer.
